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8-1 [ShERAL (BEFEF) 472 472 1 1 5 5 5 5 1 1 12
8-2 [H4ERAL(B) 17.72 17.72 5 5 5 12
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1 |E2EE 11.81 11.81 5 5 3
12 [BR=E2 11.81 11.81 5 5( 3
13 |2E=ES 11.81 11.81 1340 | 1340 6 6 5 5 5 3 1 1 1
14 |thigE#EE (1B EEREUEKE) 16.11 16.11 5 5( 3
15 [PREFE(NEBT) 12.24 12.24 5
16 [R=E4 15.94 15.94 4.40 4.40 3 1 5/ 5 5( 3 1 1 1
17 |E2R=ES 15.94 15.94 3.70 3.70 21 1 5 5( 3 1 1 1
18 [ShRFE 31.39 31.39 8.30 8.30 2 5 5 1 1 1
19-1 [fREEAORAL (B) 9.71 9.71 5/ 5| 5 5 12
19-2 FEBAORL (K) 9.71 9.71 8| 2| 5 5 5 1 1 12
20 |[IMEEEE 9.41 9.41 2.50 2.50 6 1 5 5( 3 1 1 1
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22 |BEET 9.41 9.41 5 5 3
23 |tHEXE1 9.99 9.99 5 5 3
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36 |ER=E 20.65 20.65 7 2 5 5 5 1 1| 24
37 |5El& 16.03 16.03
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5 [{KEFAEABEMFEE (I8 ISHEE) 15.10 15.10 2| 5 5( 2
6 |ME=E 7.18 7.18 2 5
7 |mRERE 22.45 2245 2| 5 5( 2 12
8 |ElEfER=E (I8 :EH=E) 16.62 16.62 2.50 2.50 3 2| 2| s 5( 2 1 1
9 |BEERCERRE(H BFREE) 16.62 16.62 2| 5 5] 2 24
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19 |AE 7.97 7.97 1
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22 |HI=E 8.44 8.44 3| 2 1 1 1 1
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EVEwhk 14.08 14.08
BEEZ-DS-PS-EPS. B#EZ% 121.87 121.87
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EVEwk 14.08 14.08
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SRIE2RE 1,045.32 911.10 134.22 11430 | 1350 | 2|252| 70|130| 70| 28| 14|182| 45 8| 52| 40
AR 3R
F1RE (X DB - BIEITIEN) 893.38 893.38 170.10 7.50 11236 | 64| 120 98| 42| 21| 168| 36 2 4| 46| 34| 96
EVHR—IL 21.82 21.82 2.50 2| 1 5 71 3 2| 2
EVEwk 14.08 14.08
MR -DS:PS-EPS. BEEZ% 110.95 110.95
SRR 3REET 1,040.23 915.20 125.03 17260 | 750| 1[238| 65|125| 98| 42| 21|175| 39| 2| 4| 48| 36
A RIE R
R IR B RS 86.75 86.75
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[3)] [(HEERE
HEERE1RE
1 |EREE 9.96 9.96
2 |EEINL—T=E 75.72 75.72 19.60 [ 19.60 15 7 5 5 5 3 2 2 2| 48
3 |M==E 51.33 51.33 1190 [ 11.90 8 2 5 5 3 2 2 2| 24
4 |EmHmEliE= 51.33 51.33 1190 [ 11.90 8 2 5 5 3 2 2 2| 12
5 |IE=E 53.41 53.41 1190 [ 11.90 8| 2| 5| 5 5( 3 2 2| 2| 24
6 |7—7R=E 3143 3143 9.40 9.40 8| 2| 5 5( 3 2 2| 2] 12
7 |EEEE(XR) 19.95 19.95 5 5 5 5 3 12
8 |MEEEEH) 17.79 17.79 0.70 10 6 5 5 5 5 3 2 2| 12
9 |BEXRE(XR) 19.09 19.09 5/ 5 5 12
10 [BEXREEH) 19.09 19.09 8 5 5 5 2 12
1 |BEE—F— 2148 2148 3.20 320 2| 7 1 5 5 1 2 2| 2| 24
12 |BERM]=E 16.66 16.66 1.60 1.60 4 2 2 2 5 2 1 1 2
13 |2—FT4qVTE 33.22 33.22 8.90 890| 2| 6| 2| 5 50 3] 1 2| 2| 2| 24
14 [ENRIZEY—/I—%F 15.61 15.61 4|l 2| 2 5
15 |BE(Y—/N—FHR) 6.55 6.55 1 1 2 5
16 |HFSIL—T=E 34.22 34.22 1190 [ 11.90 6 2 5 5 5 3 2 2 2| 12
17 [FLAIL—L 23.15 23.15 8.90 8.90 8| 2| 5 5( 3 2 2| 2| 12
18 |HEBEEE 33.87 33.87 8.90 8.90 2| 12 2 5 5 5 3 1 2 2| 60
19 [EEREE 22.25 22.25 8.90 5 6 5 5 5 3 2 2| 12
20 |HEERZE 8.14 8.14 5 5 3 12
21 |EHB=E 8.14 8.14 4.70 4.70 4| 4| 5 5( 2 2| 2| 2| 12
22 |R=E 8.14 8.14 5 5 3 12
23 [fRE=E2 8.52 8.52 4.40 4.40 4 4| 5 5( 3 2 2| 2| 12
24 |EHBERIRNM 41.30 41.30 5.10 5.10 5 5 5 2 2| 12
25 [BERF1 2217 2217 5
26 |ERTF2 38.46 38.46 5
27 |ERF3 63.62 63.62 5
28 |ERT4 49.14 49.14 69.40 43 5 5 2 2
BEEX-DS-PS-EPS. B[E% 80.98 80.98
HEEmE1REE 884.72 521.47 6.55 127.25 80.98 104.74 21.48 22.25|201.30 [ 12230 | 6 (178 | 51 [126| 57| 10 120 56| 3| 27| 35| 32
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6 [NYKHBE 31.35 31.35 3 2 1 1 1 1
7 |RILRVUHRBRELE 8.26 8.26
8 |BET 28.12 28.12
BEEZ-DS-PS-EPS. B#E% 103.03 103.03
PR T 1 BEE 579.26 95.52 483.74 0.70 12| 3| 2 2 1 1
FrEEAR1BE
1 (RE=E 2418 2418 5| 5 5
2 |BEEA 11.92 11.92 5 5
3 |ZE=EB 11.43 1143 5 5
4 |BEEC 11.43 11.43 5 5
5 [#ZE]=ED 11.43 1143 8 8 5 5 1 1
6 |HHEKZ=E 11.43 1143 2 5 5 1 1
7 |LEEEE 12.41 12.41 2 5 5 5 1
8 |[FLa—LA 33.36 33.36 11.40 71 2| 5 5] 3 1 1] 12
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13 [FHLE 3.58 3.58 2 5 5 12
14 (HEWE 10.70 10.70
15 [EEBLXFEKE 26.43 26.43 7 1 2 2 2 1 1
16 |ZFEKRE 75.40 75.40 21 8 5 7 7 1 1
17 |{RARZE1 6.72 6.72 1 1 1 2 12
18 [{REE=2 6.72 6.72 1 1 1 2
19 [{REEZ=ES 6.72 6.72 1 1 1 2
20 |{REE=4 6.72 6.72 1 1 1 2
21 |{REEZES5 6.72 6.72 1 1 1 2
22 |{RER=6 6.72 6.72 1 1 1 2
23 |[{RERZE7 7.45 7.45 9.90 14 1 1 1 2 1 12
24 |wc2 (%) 8.48 8.48 5| 5| 5 5 12
25 |WC2(E) 5.01 501 10| 5[ 5| 5| 5 5 1 1] 12
26 |BE=1 11.77 11.77 5 7 7 7 7 2 12
27 |BEE2 11.43 11.43 50 71 7| 7 7 2
28 |TBEEZES 1143 11.43 5 7 7 7 7 2
29 |BEE4 11.43 11.43 50 7| 7| 7 7 2
0 |BE=ES 1143 11.43 5 7 7 7 7 2
31 |BE=E6 12.41 12.41 8.30 6 50 7| 7| 7 7 2 1 1] 12
32 |EBHVIFLURE 33.20 33.20 8.50 41 2| 2 2 2 1 1] 12
33 |REFFEKRE(IH:FEEE) 5.73 5.73 2 2 9 1
34 |IMEHBREE 12.73 12.73
35 |FESREE 34.18 34.18 9.20 27 4 1 1 2 1 1 12
36 |HFEESFRIE 477 477 2.80 3 2 2| 2 1
37 |AE11 497 497
38 |REFR=E2 9.96 9.96 3 5 5 1
39 |FE34EZ4F 18.08 18.08 2.80 4| 2| 5 5( 3 1 1
40 |EINEBRENEE 2553 2553 2.80 4 3 5 5 5 3 1 1
41 |wcs 5.28 5.28 2 1 5| 5| 5 5 1 1
42 |WC1 (%) 17.21 17.21 5| 5| 5 5 12
43 |WC1(8) 17.76 17.76 16| 5[ 5| 5| 5 5 1 1 12
44 |EEFWC 5.72 1 5| 5| 5 5 1] 12
45 |AE12 415 415
46 |HE=R 93.64 93.64 46| 8| 5 5 1 1] 48
471 |[fREAZE 18.64 18.64 2.80 3 2 5 1 1 12
48 |EFHEE 2485 2485 2.80 6| 2| 2 51 2 1 1| 24
49 |HRINE 9.80 9.80 3 5 5 1 12
50 |FLNTARE 12.34 12.34
51 |BE 347 3.47
52 |REHWC(Z) 2.16 2.16 5 7 7 7 12
53 [REBWC(5) 1.89 1.89 2 7 7 1 1] 12
54 |ERTF 22.72 22.72 5 5 1
55 (=& 472 472 12
56 |BE&KZE(X) 6.00 6.00 2 5
57 |BERZE(B) 6.00 6.00 1
58 |&pLa—F+— 3.44 344 3 5| 5 5 1 12
59 |BMmE 6.47 6.47 12
60 |HIZE 7.86 7.86
61 |TFAUEE 26.86 26.86 12
62 [FAEE 75.83 75.83 2 36
63 |EEfTE 38.00 38.00 12
64 |7R—JIL2 9.01 9.01
65 |BCREHR—IL 30.56 30.56
66 |JdVKEE 7.78 7.78 12
67 |THREE 15.88 15.88 12
68 |HEiR=E 33.52 33.52 2 12
69 [EFTERHEE 3.05 305
70 |ENRIZE 19.07 19.07 2 2 12
7 |EAFIZE 55.38 55.38 5.70 10| 4 2 1 1| 24
2 |EREHE 30.17 30.17 5.70 7 5| 5 5 1 1| 24
73 |DIZE 480 4.80
74 |BEBRE 10.54 10.54 4 5 5 1
75 [EYERT 11.43 11.43 7.50 5 5( 2
76 [ERTF1 81.32 81.32 271 2| 5 5
77 |fFEHR—IL2 35.79 35.79 5 5
78 |fFEHR—IL1 54.65 54.65 91.40 63 5 5 2 1 1
19 |[FEKR—ILIERII—FT—BL) 23.90 23.90 5 5 1
80 |ERTF2 88.65 88.65 5
81 [ERTF3 38.06 38.06 5
82 |ERT4 65.53 65.53 5
83 |R—IL1 22.15 2215 4 5 5 1 12
84 |EET5 4163 4163 30.20 80| 6| 5 2 1 1
85 |EViR—IL 30.84 30.84 5
86 |[AREEE 2.07 2.07 23 1 5 5 1 1
MEE%-DS-PS-EPS., BEEZ% 236.15 236.15
SR BE R 1,973.25 | 1,265.68 174.21 262.24 265.40 201.80 439 | 97 (264 (151 | 86| 49 (280 59 33| 27
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6 |fRE(S038E) 11.98 11.98 7 7 7 7 3
7 |fRE (5048 %) 11.98 11.98 71 71 7 71 3
8 |fRE(5058%E) 11.98 11.98 7 7 7 7 3
9 |FRE(5068%E) 11.98 11.98 7 7 7 71 3
10 |F/ME 13.38 13.38 2.50 2 1 1 2
11 |[fRE (5158 %) 14.44 14.44 7 7 7 7 3
12 |fRE (5148 %) 13.38 13.38 7 7 7 7 3
13 |[fRZE (5138 %) 11.98 11.98 7 7 7 7 3
14 [JRE(5128F) 11.98 11.98 7 71 7 71 3
15 FREGBGI1EE) 11.98 11.98 7 70 7 71 3
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17 |[$5Ea—F—2 12.62 12.62 5 3
18 [HEHE1 10.69 10.69
19 |EEXEI—F—2 7.86 7.86 7 7 7
20 |EEKEI—F—1 7.86 7.86 7 7 7
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22 |iB=1 11.16 11.16 71 7 7
23 |&E1 4.90 4.90
24 |E{FFWCH 6.78 6.78 7 7 7 7
25 |[#EE=EA 11.72 11.72 70 7 7
26 |fRE (5208 %) 12.50 1250 7 7 7 7 3
27 |fRE(5218%E) 11.98 11.98 7 71 7 71 3
28 |fRE (5228 %) 11.98 11.98 7 7 7 7 3
29 |fRE (5238 %) 11.98 11.98 7 7 7 71 3
30 |fRE(5248%E) 11.98 11.98 7 7 7 7 3
31 |fRE (5258 %) 11.98 11.98 7 70 7 71 3
32 [fRE(5268F) 13.38 13.38 7 70 7 71 3
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34 |#H=E2 10.69 10.69 70 7 7
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36 |[E#HFFWC2 482 482 4 2 5 7 7 7 2
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38 |HERE2 9.79 9.79 7 7 7
39 |UARE 13.46 13.46 2.50 4 1 5 7 2 2
40 [A=3 13.65 13.65 0.50 11 6 5 7 7 7 3
41 |fRE(5358%F) 13.38 13.38 7 70 7 71 3
42 |fRE (5348 %) 11.98 11.98 7 7 7 7 3
43 |fRE (5338 %) 11.98 11.98 7 70 7 71 3
44 |fRE (5328 %) 11.98 11.98 7 70 7 71 3
45 |JRE (5318 E) 11.98 11.98 7 71 7 71 3
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54 |REE (5528 %) 10.31 10.31 T 71 3
55 |#E= 2.52 2.52 7 7
56 |[F—ARXF—3v 95.01 95.01 28| 8| 5| 7 7 2
57 |#&i%ZE3 6.82 6.82 7 7 7
58 [iAZE4 11.14 11.14 51 3| 5| 7 7 7 2
59 |RE=E 442 442 2 7
60 |EIfE= 12.48 1248 3 2 5 7 2
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64 [TEL 2.50 2.50 5 7
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66 |fEEKE 517 5.17 1 5 7 2
67 |R=E 10.98 10.98 2 2 5 7 2 2
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69 |ZRH=E 6.75 6.75 1 1 2 5 2 2
70 [ZBHE 37.82 37.82 2250 8| 4| 5 5 5 2 2
nO|EEREE 77.69 77.69 18 7 5 5 5 3 2 2
72 |WCGEENEREARE) 435 435 2 1 5 5 5 5 2 2
3 |BEGEBEEE) 3.32 3.32
74 [EEEEE 90.75 90.75 10.10 17 8 5 5 5 3 2 2
75 |&%HEE 23.92 23.92 5/ 2| 5| 5 5 2| 2
76 |HET 52.55 52.55 7.60 10 4 5 5 5 3 2 2
77 |#%=E2 36.00 36.00 5.00 7 4| 5 5 5 2 2
78 |WC5(5) 2.70 2.70 51 7| 7 7
79 |wC5 (%) 2.70 2.70 2( 2| 5| 7| 7 7 2| 2
80 |HEE2(IH-RE@EE) 13.68 13.68 2.50 3 2 5 5 5 2 2 2
81 |IDEEER 10.59 10.59 2.50 3 2| 5| 5 5( 3 20 2
82 [TLAIIL—L 20.84 20.84 5.00 6 2 5 5 5 3 2 2
83 |[AII=E1 9.28 9.28 10.10 3 5 7 3 2
84 |[ERTF1 5461 5461 5 7
85 |ERT2 77.86 77.86 5 7
86 |ERTF3 9.75 9.75 5 7
87 |ERT4 85.42 85.42 5 7
88 |ERT5 4762 47.62 5 7
89 |ERT6 13.51 13.51 5 7
9 |ERTF7 102.21 102.21 5 7
91 |ERTF8 16.34 16.34 5 7
92 |ERTF9 26.82 26.82 70.50 185 | 18 5 7 2 2
93 [ERT 10 (FBRMZFEARMA) 90.68 90.68 5 7
94 [EVR—IL 68.84 68.84 9.80 35| 1 5 71 2 2
95 [EYERT2 11.43 11.43 3.20 5 71 2
96 |[ERT11(WC4ARIE) 42.93 4293 5 7
BEER-DS-PS-EPS, BE% 239.16 239.16
PR 2R 2,134.82 | 1,532.36 47.11 260.54 294.81 179.20 407 | 110 [ 531 | 421 | 215 | 14 | 594 | 146 62
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AR R £
FR(m) Z=(m) Z Dt (&) B &E:&#F(E/E) EHAER(E/F) B
=d 2 % ~ B | ® 7 | m |2 e
zs =7 & A .. o 7 x | 2 ple | %2 Blg|5 a2 n|" |2
HES sam | o € s z x | : = | 5|2 |=»|B oll|v|Blm|S|F|f|2|wl|-
7 z 1 e z J s B S| T r|8|n|a|2|0|2|o|2|a|Y|a|w|E
. = = /B == /B == = = J
3 ) o 3 Ak N RN RN N N L I e e e
4 m] T R | # = | W
= | <
FEEFR3ME
FORIF (XD BE - BIITIEN) 1,775.15 | 1,775.15 258.70 621 | 276 | 210 12| 14| 294 | 63 82| 74| 132
EViR—IL 44.95 10.10 24 1| 5 7| 2 2| 2
BEER-DS-PS-EPS, BEE% 244.38 24438
HEER SRS ET 2,064.48 | 1,775.15 24438 268.80 645 | 277 | 215 112 | 14301 | 65 84| 76
FERIER
T7UI—L 23.37 23.37
MEE%-DS-PS-EPS., BEEZ% 467 467
FEEEIBERT 28.04 28.04
[4)FfEH S &L 6,779.85 650.50 1,503 |487 |1,012 413 | 77 1177|270 180 |160
[5] |[EERBRERE
ERBE LRI
F7RR (X DB - BIITIEN) 2,13588 | 2,135.88 237.06 | 12.99 1] 651 | 297 | 490 105 | 56| 785 | 161 1 6| 205 | 157 | 180
ERBRERE 1B 2,135.88 | 2,135.88
ERBEERE2E
F7RE (X DB - BIITIEN) 351.41 351.41 15.94 1| 67| 18| 20 45| 12| 2 18| 12
ERBIRERE20EE 351.41 351.41 15.94 1| 67| 18| 20 45| 12| 2 18| 12
[5]ERBELFESE 2,487.29 15.94 1| 67| 18| 20 45 | 12| 2 18 | 12
(6] |E AR (EFINEER)
B 3L EI R 1 B
[TOFE (RS- BIZITIES) 211.87 211.87 20.90 15| 41 6 108
B fIlsEE1BE &R 211.87 211.87 20.90 15| 41 6
OQOERAE L 211.87 20.90 15 | 41 6
(7] |{ABER
RE AR B
1 |<PEFRT 17.89 17.89 790 790 2| 5| 4| 2 51 2| 1 1 1 1] 36
2 [EAOR—IL 49.70 49.70 13.20 7 5 5| 2 2
3 Rk 15.19 15.19 2 1 1 2
4 |BBE 32.75 32.75 5( 2 1 1 2 1
5 |BE 15.09 15.09
6 |AEEREE 417.11 41711 37.40 50 8 1 1 2 2 1| 24
7 |BREo—F— 24
BEER-DS-PS-EPS. BE% 74.24 74.24
AR FEE 621.97 67.59 15.19 89.33 449.86 5850 | 790| 2| 69| 14| 10 13| 6| 1 1 9| 3
HEEE 20
1 |EEfAl = 16.41 16.41
2 A= 16.41 16.41
REEZ-DS-PS-EPS. B#EZ% 6.33 6.33
KB EH2FE5 39.15 39.15
[7)AEfEHEEE 661.12 5850 | 790 | 2| 69| 14| 10 13| 6| 1| 1| 9| 3
[8] |TRILF¥—H&
IRILEF—H1BE
X5 HE - [E L IEAN 327.60 327.60 660| 660| 2| 52| 6 2| 2| 2| 2| 48
IRILE—1BERT 327.60 327.60 6.60 660| 2| 52| 6 2| 2 2 2
IR —RR20E
XS - EHITEAS 122.47 122.47
IRILEF—2REE 122.47 122.47
[8]TRIILX—HEET 450.07 660 | 660 2| 52| 6 4| 2| 2| 2| 2
[9) (MtEEED
HEREY
-1 | EXEH(ERE) 13.25 13.25 6 1 1 1
1-2 |EREH(AIE) 7.11 7.11 2 1 1 12
-3 |ERER(BET) 392 3.92 12
-4 |EREH(BES) 19.76 19.76 12
1-5 |EXEH(Z0D 1) 3.96 3.96
2 |EER 9.50 9.50
3 |EFEHEE 4.72 4.72
4 |ZKFERR 28.00 28.00
5 |HEEH 89.38 89.38
6 |BERHEES 22.99 22.99
7 |FEETEAR (FTRARRERE) 66.12 66.12
8 |FL/NTEE(H27) 34.44 34.44
REME 303.15 7.11 282.79 13.25 1
(o) REME & 303.15 1
(#fExR)
B4 FRER
[1] (AfE# 3,354.92
[2] |74 (BEFFmER) 3,217.62 363.70 | 2350 | 4621 185|292 85| 40 (447|104 | 3| 13[118| 89
[3] ((t=ERmE 1,501.82 317.30 |129.30 | 12292 | 85182 17| 7(197| 76| 11| 29| 59| 48
(4] (FFEEHR 6,779.85 650.50 1,503 | 487 |1,012 413 | 77 1177|270 180 | 160
[5] [ EEBRERE 2,487.29 15.94 1| 67| 18] 20 45 12| 2 18| 12
[6) |B L3I 211.87 20.90 15| 41 6| 6 6
[7] |AEfEHE 661.12 5850 790| 2| 69| 14| 10 13| 6| 1 1{ 9| 3
[8] [TRIL¥—H 450.07 660| 660| 2| 52| 6 41 2| 2| 2| 2
[9] (tREEY 303.15 8l 1| 2 2
A {kst 18,967.71 1,433.44 |167.30 | 36 (2.653 |796 1,518 515 |124 |1.881 |478 | 25 | 45 |392 |314
EEAE 735.18
BHES 1,200.42




